Attachment A

PROPOSED PROGRAM BUDGET

Below is a general budget which outlines eligible categories and their allocation under this award. The Sub-Recipient is to utilize the "Proposed Program Budget" as a guide for completing the "Budget Detail Worksheet" below.

The Equipment category will require Authorized Equipment List (AEL) reference number. The Authorized Equipment List (AEL) is a list of approved equipment types allowed under FEMA's preparedness grant programs. The intended audience of this tool is emergency managers, first responders, and other homeland security professionals. The list consists of 21 equipment categories divided into sub-categories, tertiary categories, and then individual equipment items. The AEL can be found at http://www.fema.gov/authorized-equipment-list.

The *transfer of funds between the categories* listed in the "Proposed Program Budget" *is permitted*. However, the *transfer of funds between Issues is strictly prohibited*.

Grant	FY 2017 Homeland Security Grant Program		
Recipient Agency	Orlando Fire De	epartment	
Category(s)	Issue Number/Project Title	Amount Allocated	
Planning Expenditures			
Organizational Expenditures			
Exercise Expenditures			
Training Expenditures			
Equipment Expenditures	Issue 3 – HazMat Sustainment & Maintenance Issue 11 – HazMat Area Rae Replacement	\$41,076.00 \$75,000.00	
Management and Administration (up to 5%)			
Total Award	\$116,076.00		

BUDGET DETAIL WORKSHEEET

The Recipient is required to provide a completed budget detail worksheet, to the Division, which accounts for the total award as described in the "Proposed Program Budget".

If any changes need to be made to the "Budget Detail Worksheet", <u>after</u> the execution of this agreement, contact the Grant Manager listed in this agreement via email or letter.

Allowable Planning Costs	Quantity	Unit Cost	Total Cost
Developing hazard/threat-specific annexes that incorporate the range of prevention, protection, response, and recovery activities			
Developing and implementing homeland security support programs and adopting ongoing DHS national initiatives			
Developing related terrorism and other catastrophic event prevention activities			
Developing and enhancing plans and protocols			
Developing or conducting assessments			
Hiring of full or part-time staff or contractors/consultants to assist with planning activities (not for the purpose of hiring public safety personnel fulfilling traditional public safety duties)			
Materials required to conduct planning activities			
Travel/per diem related to planning activities			
Overtime and backfill costs (in accordance with operational Cost Guidance)			
Issuance of WHTI-compliant Tribal identification cards			
Activities to achieve planning inclusive of people with disabilities and others with access and functional needs			
Coordination with Citizen Corps Councils for public information/education and development of volunteers			
Update governance structures and process and plans for emergency communications			
Activities to achieve planning inclusive of people with limited English proficiency			
TOTAL P	LANNING EXPE	NDITURES	\$
Allowable Training Costs	Quantity	Unit Cost	Total Cost
Overtime and backfill for emergency preparedness and response personnel attending DHS/FEMA-sponsored and approved training classes			
Overtime and backfill expenses for part-time and volunteer emergency response personnel participating in DHS/FEMA training			
Training Workshops and Conferences			
Activities to achieve training inclusive of people with disabilities and others with access and functional needs			
Full or Part-Time Staff or Contractors/Consultants			

Certification/Recertification of Instructors			
Travel			
Supplies are items that are expended or consumed during the course of the planning and conduct of the exercise project(s) (e.g., copying paper, gloves, tape, non-sterile masks, and disposable protective equipment).			
Instructor certification/re-certification			
Coordination with Citizen Corps Councils in conducting training			
Interoperable communications training			
Activities to achieve training inclusive of people with limited English proficiency			
TOTAL 1	RAINING EXPE	NDITURES	\$
Allowable Organizational Activities (HSGP and LETP)	Quantity	Unit Cost	Total Cost
Reimbursement for select operational expenses associated with increased security measures at critical infrastructure sites incurred (up to 50 percent of the allocation)			
Overtime for information, investigative, and intelligence sharing activities (up to 50 percent of the allocation)			
Hiring of new staff positions/contractors/consultants for participation in information/intelligence analysis and sharing groups or fusion center activities (up to 50 percent of the allocation)			
TOTAL ORGANIZ	ATIONAL EXPE	INDITURES	\$
Allowable Exercise Costs	Quantity	Unit Cost	Total Cost
Design, Develop, Conduct and Evaluate an Exercise			
Exercise Planning Workshop - Grant funds may be used to plan and conduct an Exercise Planning Workshop to include costs related to planning, meeting space and other meeting costs, facilitation costs, materials and supplies, travel and exercise plan development.			
Full or Part-Time Staff or Contractors/Consultants - Full or part-time staff may be hired to support exercise-related activities. Payment of salaries and fringe benefits must be in accordance with the policies of the state or local unit(s) of government and have the approval of the state or the awarding agency, whichever is applicable. The services of contractors/consultants may also be procured to support the design, development, conduct and evaluation of CBRNE exercises. The applicant's formal written procurement policy or the Federal Acquisition Regulations (FAR) must be followed.			
Full or Part-Time Staff or Contractors/Consultants - Full or part-time staff may be hired to support exercise-related activities. Payment of salaries and fringe benefits must be in accordance with the policies of the state or local unit(s) of government and have the approval of the state or the awarding agency, whichever is applicable. The services of contractors/consultants may also be procured to support the design, development, conduct and evaluation of CBRNE exercises. The applicant's formal written procurement policy or the Federal Acquisition			
Full or Part-Time Staff or Contractors/Consultants - Full or part-time staff may be hired to support exercise-related activities. Payment of salaries and fringe benefits must be in accordance with the policies of the state or local unit(s) of government and have the approval of the state or the awarding agency, whichever is applicable. The services of contractors/consultants may also be procured to support the design, development, conduct and evaluation of CBRNE exercises. The applicant's formal written procurement policy or the Federal Acquisition Regulations (FAR) must be followed.			

Travel - Travel costs (i.e., airfare, m allowable as expenses by employee official business related to the plann project(s). These costs must be in a highlighted in the <i>OJP Financial Gu</i> , regulations regarding travel. If a star policy they must follow federal guide <i>OJP Financial Guide</i> . For further inf travel costs please refer to <u>http://ww</u>	es who are on travel status for ing and conduct of the exercise ccordance with state law as ide. States must also follow state te or territory does not have a travel elines and rates, as explained in the ormation on federal law pertaining to			
Supplies - Supplies are items that a the course of the planning and cond copying paper, gloves, tape, non-ste protective equipment).	luct of the exercise project(s) (e.g.,			
Interoperable communications exerc	cises			
	TOTAL E	XERCISE EXPE	NDITURES	\$
Eligible Equipment Acquisitio The table below highlights the allow award. A comprehensive listing of t categories, and specific equipment listed on the web-based version of t at <u>http://www.fema.gov/autho</u>	able equipment categories for this hese allowable equipment eligible under each category, are he Authorized Equipment List (AEL)	Quantity	Unit Cost	Total Cost
Personal protective equipment				
NFPA 1991, Level A, Flash	01VF-01-ENSM	4	2,900.00	11,600.00
Explosive device mitigation and rem	ediation equipment			
CBRNE operational search and rese	cue equipment			
Information technology		-	1	
Cybersecurity enhancement equipment	nent	-	1	
Interoperable communications equip	oment		1	
Detection Equipment			<u> </u>	
20/20 Protein Detection Kit	07BD-01-PTST	1	792.00	792.00
Ahura First Defender Annual service/Library update	07CD-01-DPRS	1	1900.00	1900.00
Calibration Multi Gases Rae/MSA	07CD-01-DPMG	1	2100.00	2100.00
Raid 8 HHA Detection Kit	07BD-01-KFAS	1	1190.00	1190.00
Micro FID Maintenance	07CD-01-DPFP	1	260.00	260.00
Multi-Rae CO Sensors	07CD-01-DPMG	4	215.00	860.00
Multi-Rae LEL Sensors	07CD-01-DPMG	2	215.00	430.00
Multi-Rae H2S Sensors	07CD-01-DPMG	2	198.00	396.00
Multi-Rae O2 Sensors	07CD-01-DPMG	4	215.00	860.00
Multi-Rae PID Sensors	07CD-01-DPPI	2	121.00	242.00
Multi-Rae HCN Sensors	07CD-01-DPMG	2	432.00	864.00

Maintenance				\$116,076.00
Shipping for Detection Equipment	of any funds for construction or renova 21GN-00-SHIP	ation)	500.00	500.00
	include any construction or renovation		Vritten approval r	nust be
Intervention Equipment				
CBRNE Logistical Support Equipme	ent		I	
CBRNE Aviation Equipment				
CBRNE Prevention and Response	watercraft			
Animal and Plants				
Inspection and Screening Systems				
r nysical security Enhancement Eq	աթուցու			
Physical Security Enhancement Eq	uipmont			
Terrorism Incident Prevention Equi	pment		I	E.
CBRNE Incident Response Vehicle	S			
CBRNE Reference Materials				
Power equipment (generators, batte	eries, power cells)	T		
Medical supplies				
Decontamination Equipment				
AreaRae RaeLink3 Modem Kit		1	3000.00	3000.00
AreaRae RDK Host Controller	07CD-01-DPMG 07CD-01-DPMG	1	19550.00	19550.00
AreaRae RDK Detector	07CD-01-DPMG	1	52450.00	52450.00
Multi-Rae Gas Detector	07CD-01-DPMG	2	4640.00	9280.00
Smiths Gas ID Annual Service	07CD-01-FTIR	1	5500.00	5500.00
TVA 1000 Annual Maintenance	07CD-01-DPFI	1	1200.00	1200.00
TIMS/AP2C/AP4C Maintenance	07CD-01-DPFP	2	600.00	1200.00
Q-Rae O2 Sensors	07CD-01-DPMG	4	198.00	792.00
Q-Rae LEL Sensors	07CD-01-DPMG	2	185.00	370.00
Q-Rae H2S Sensors	07CD-01-DPMG	2	185.00	370.00

Overtime and backfill costs – Overtime expenses are defined as the result of personnel who worked over and above their normal scheduled daily or weekly worked time in the performance of FEMA – approved activities. Backfill Costs also called "Overtime as Backfill" are defined as expenses from the result of personnel who are working overtime in order to perform the duties of other personnel who are temporarily assigned to FEMA – approved activities outside their core responsibilities. Neither overtime nor backfill expenses are the result of an increase of Full – Time Equivalent (FTEs) employees. These costs are allowed only to the extent the payment for such services is in accordance with the policies of the state or unit(s) of local government and has the approval of the state or the awarding agency, whichever is applicable. In no case is dual compensation allowable. That is, an employee of a unit of government AND from an award for a single period of time (e.g., 1:00 pm to 5:00 pm), even though such work may benefit both activities. Fringe benefits on overtime hours are limited to Federal Insurance Contributions Act (FICA), Workers' Compensation and Unemployment Compensation. Travel expenses		
Meeting-related expenses (For a complete list of allowable meeting- related expenses, please review the <i>OJP Financial Guide</i> at http://www.ojp.usdoj.gov/FinGuide).		
Authorized office equipment: including personal computers, laptop computers, printers, LCD projectors, and other equipment or software which may be required to support the implementation of the homeland security strategy.		
The following are allowable only within the agreement period: Recurring fees/charges associated with certain equipment, such as cell phones, faxes. Leasing and/or renting of space for newly hired personnel to administer programs within the grant program.		
ТО	TAL M&A EXPENDITURES	\$
TOTAL EXPENDITURES		